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(1) Andrej bakes 6 trays of jam tarts.

Each tray has 12 jam tarts.

How many jam tarts altogether?

.......................

(2) Nika bakes 7 trays of biscuits.

Each tray has 13 biscuits.

How many biscuits altogether?

.......................
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(1) Andrej bakes 6 trays of jam tarts.

Each tray has 12 jam tarts.

How many jam tarts altogether?

.......................

(2) Nika bakes 7 trays of biscuits.

Each tray has 13 biscuits.

How many biscuits altogether?

.......................
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(3) A school keeper puts out 7 rows of chairs.

Each row has 14 chairs in it.

How many chairs does the school keeper put out?

.......................

(4) An electrician orders 18 boxes of light switches.

Each box contains 8 light switches.

How many light switches did she order?

.......................

(3) A school keeper puts out 7 rows of chairs.

Each row has 14 chairs in it.

How many chairs does the school keeper put out?

.......................

(4) An electrician orders 18 boxes of light switches.

Each box contains 8 light switches.

How many light switches did she order?

.......................
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